CSE 326 Reading Quiz
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Friday 7/14/00

1. Which of the following are not part of the terminology of extendible hashing? Circle as many as apply (i.e., don’t belong).


leaf


directory


split


rotation

2. T/F A characteristic of extendible hashing is that only part of the key is likely to be used in storing or locating a record

3-5. The Poisson function p(x) = ((r/N)xe-(r/N))/x!

involves 3 variables, x, N, and r.  Identify them:


____ the number of available addresses


____ the number of records to be stored


____ the number of records assigned to a given address

